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1.  3    1  = 
   

2.  8    1  = 

   

3.  4    1  = 

   

4.  2    1  = 

   

5.  1    1  = 

 
Divide these numbers by 10 
 

6.  50    10  =                 7.  70    10  = 
 
 

8.  30    10  =                 9.  40    10  = 
 
 

10. 80    10  =              
 
 

What do you notice 
about the answers 
for the first five 
questions? 
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   1. 3                 2. 3                3. 4 
   4. 2                 5. 1                6. 5 
   7. 7                 8. 3                9. 4                   
 10. 8 
 

 
Thousands more maths worksheets, covering 

every aspect of Primary Maths at: 
www.mathsphere.co.uk 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


